Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2015

Subject Name : APPLIED ELECTRONICS

Subject Code :_ 2TEO4AEE1 Branch :ELECTRICAL ENGINEERING

Semester :4™" Date :19/11/2015 Time :2:30 PM To 5:30PM Marks :70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions: (14)
(MCQ Type of Questions=1 mark*14=14 marks)

a) E is the symbol of

1) Diode
2) Transistor
3) Triac
4) Diac
b) SCR used in
1) Lamp dimming
2) Regulators
3) Motor control
4) All of the above
c) voltage is the maximum value of reverse voltage which occurs at
the peak of the input cycle when the diode is reverse-biased.
1) Peak Inverse voltage
2) Peak Reverse Voltage
3) 1&2
4) None
d) TRIACIs Device.
1) Unidirectional
2) Bidirectional
3) 1&2
4) None.
e) UPS Means
1) Unidirectional Power Source
2) Uninterruptable Power Supply
3) Uninterruptable Power Switch
4) 1&2
f)  Free Wheeling Diode also called
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1) Snubber diode
2) Fly back diode
3) Suppression diode
4) All
g) Commutation defined as
1) Turn On SCR
2) Turn On Traic
3) Turn Off SCR
4) 1&2
h) Triggering defined as
1) Turn On SCR
2) Turn On Traic
3) Turn Off SCR
4) 1&2
i) Ratio of Toy/ T called
1) Running cycle
2) Duty Cycle
3) Forward Cycle
4) All of the above
j) Chopper called two Quadrant Chopper.
1) Class A
2) Class B
3) ClassC
4) ClassD
k) Ratio of Reference Single(Egy to Carrier Signal(Ec) called
1) Modulation Index
2) Modulation
3) Modulation Control
4) Frequency Index
[)  The latching current is to the holding current.
1) Higher
2) Lower
3) Equal
4) None
m) An ideal operational amplifier has
1) Infinite output impedance
2) Zero input impedance
3) Infinite bandwidth
4) All of the above
n) Pulse stretching, time-delay, and pulse generation are all easily accomplished
with which type of multivibrator circuit?
1) Astable
2) Monostable
3) Bistable
4) Multistable
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Attempt any four questions from Q-2 to Q-8

Attempt all questions

Explain working of N-Channel MOSFET in Depletion enhancement mode.
Explain two transistor analogy of SCR.

Attempt all questions

Explain Buck-Boost switching mode regulators.

Explain Online UPS and Offline UPS.

Attempt all questions

Draw & Explain working of three phase full wave uncontrolled rectifier.
Derive Equation of lgc, Eq4c, Irms, and Erms for Single phase full wave
controlled rectifier

Attempt all questions

Explain working of single phase series inverter with R and RL Load
What is cyclo converter ? Explain working principle.

Attempt all questions

What is Chopper ? Write Down methods of controlling chopper. Explain any one
Draw & Explain working of Morgan’s chopper.

Attempt all questions

Draw & Explain block diagram of timer IC 555.

Draw & Explain block diagram of op amp IC 741.

Attempt all questions

(a) For Half Wave Controlled Rectifier Value of Load Resistance is 15 Q and
AC Voltage is €=300 sin 314.2 t
Find Current Iy, If,
1) Firing angle a = 30°
2) Firing angle a = 120°
Explain Monostable Mode of IC 555
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b)

d)

f)

ol

o{lAcll YL oll cllol 3.

(MCQ Type of Questions=1 mark*14=14 marks)

4§; D ol ydls ®.

1) stals

2) 2lfleR

3) 2lAs

4) slas
SCR ol GlulaL

1) Qxu siHlat

2) QAR

3) HeR [

4) BGWUR ol ol
Ada ot 1l stals ofl HedH BHd &

1) dls Sdu dleew

2) Uls 3ldu A
3) 1&2
4) As uel «l3.

TRIAC % Gus:L 9.
1) YlAslaRsee
2) Gl SlaARS2AA
3) 1 dal 2
4) As uel 3.

UPS A2A

1) Unidirectional Power Source
2) Uninterruptable Power Supply
3) Uninterruptable Power Switch

4) 13l 2
Free Wheeling Diode o\ -------- ol 58 9.

Paged || 7

ARy 58 O.

(14)



1) el SlAlS
2) SClA As slallS
3) ¥Walet SL2AS
4) oal
9 a2t o A} cauvuld s d.
1) 2ol et AA{LAR
2) 2ol ol 2LAS
3) 2ol ully AAALAUR
4) 1 2
) Qoo A A3 calvaulRd spAA B.
1) 2ol 3ot AU{LuR
2) 2ol ol 21AS
3) 2ol Ay AA{LuR
4) 1ua 2
) Tod Totl oalek A 5¢ ®.
1) Re{lol WA
2) syl AasA
3) Slds wasc
4) BLUR il oltul
) AUR A g scllgoe AUR 58 .
1) ScU™ A
2) SCA B
3) SAUAC
4) SARL D
K) g0t oot el 33lauR loelct otl JBlcR o
1) HsYAUst Sods
2) HlsyAalst
3) HIsyAet S
4) glsdfll Sdsu
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Q-3

Q-4

Q-5

AL yctls ol BHA 8leslot yaus ol (BHd

1) sl Gl
2) 5l (st
3) GRIGR
4) As uel o3
ulg A MUR2AeA ArudlslaR

1) Satglaeilsse WA 2uGe st

2) AR Fotye SEUSU
3) Satslaaie olscllsu
4) GUR oll ol

SAUYS(R oll 1BlalSer Hi uct Aol , dHA (Aot Ml Ue %olR2let

AR AL Ul aa B?
1) Aeud
2) HlollReud--
3) GllARUA
4) 12lRRUA

YRaddl sl ®.

aa V.

o{lAotl YU Q-210 Q-8 HL AUl 518 Ul 4 Yl oll Scllol AL

ol Aol Y2 oll %cllod WL

St Aot HlS Hi Aot~ Yotct HIAUZR of sl AU

AUALAR HER 2 2iR2R WA AHHIA

ol Aol Y2 oll %cllod WL

ws-ofe [1AloL Al WA AUl

Wlot Aot f UL AU Ul 3§ Aleot 2 UL AU, AU

ol Aol Y2l oll %clled AL

UA Ae Yl 3oy gAt Ac Aot~ 3les Wls2R lA A A

gt Aol ol 303 5216 ELLAR ML lyc, Ede, lrms, o, Erms oll 32U

ARl
o{lAell YL oll cllol 3.

UL5A U Aot 303 A% Sotclex RUARL ol A AMxALCl.
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ARAUSA sotcle? A AMs A, s1ist3] Al uict AxEs A, 7

o{lAotl YA oll il L. (14)
AU A2A Y? AUR ol 521t ol A ol ot vl ol 8185 ULl A 7
AUl

U5A U HR3Net A UR [l umesAl. !
o{lAotl YA oll il L. (14)
IC 555. o{l uis gl 131 A AU !
OP-AMP IC 741 ofl uis g €13 A yHsAl. !
o{lAotl YA oll it . (14)

As sls Aol s2lct BlslaRHl ek WARAY ofl i1 15 Q@ ®. Qe A, 7
AR e=300sin 314.2t A . Al (ALY Yells Iy L.

1) %l gt2aot oA a=30°

2) %l staloL AdlA a=120°

IC 555 Hi ol RAQ AxA. 7
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